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x=1:100;

plot(x)
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t=0:0.1:50;

x=cos(t) + t. ¥ sin(t);
y=sin(t) - t. ¥ cos(t);
plot(x,y)
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function [w,y] = result(m,n) % result & RBCCHE 4
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function y = average(x)
% AVERAGE Mean of vector elements.
% AVERAGE(X), where X is a vector, is the mean of vector elements.
% Non — vector input results in an error.
[m,n] = size(x);
if (~((m==1) | (n==1)) | (n==18&n==1))
error( 'Input must be a vector')
end

y = sum(x)/length(x); % Actual computation

B T B R PR A AE 44 0 average. m [ SCHR R, AT TE A A 1 Bl G B4 TP g ol AR AR
KA iE ], IR A average FREK

>>z=1:99; % A 100 4K

>> average(z)

ans =
50
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>k=[12;56];
>> average(k)
Error using average (line 4)

input must be a vector

>k=[9];
>> average(k)
Error using average (line 4)

input must be a vector
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[m,n] = size(x);
if (~((n==1) | (n==1)) | (n==1&n==1))

error( 'Input must be a vector')
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>> [mianji, zhouchang] = fc(6) % V8 R B £
BATERIT .

mianji =
113.0973

zhouchang =
37.6991
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theta= —pi:0.01:pi;

rho(1,:) =2 % sin(5 * theta).”2;

rho(2,:) = cos(10 * theta).”"3;

rho(3, :) = sin(theta)."2;

ho(4,:) =5 % cos(3.5 * theta)."3;
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subplot(2,2,k)
polar(theta, rho(k, :)) % 22 1l i A A [
end

ARG 4] W 2 Z ] subplot PR AT 58 B, HAR P40 F .

theta= —pi:0.01:pi;

rho(1,:) =2 % sin(5 * theta)."2;
rho(2, :) = cos(10 % theta).”"3;
rho(3, sin(theta).”"2;

rho(4,:) =5 * cos(3.5 * theta).”3;

(1,:)) s &wlbrE
subplot(2,2,2) polar(theta, rho(2, :))
subplot(2,2,3) polar(theta, rho(3, :))
subplot(2,2,4) ( (4,:))
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>>forn=1:8
x(n) = sin(n * pi/10);
end
MR BT R EE A E DA x, /)
>> xS HIA x, SR )5 % Enter

x =
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forn=3:6
form=7:—-1:4
x(n,m) =n"2+m"2;
end
disp(n)
end

1% Enter 8,0 4 #
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>> X

0 0 0 0
0 0 0 0
0 0 0 25
0 0 0 32
0 0 0 41
0 0 0 52
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41
50
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85
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n=n+1;
end
TRAERIT B Run i817 SR G E 2 H A n, B
>>n
n =
70
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s=0;

m=0;

while s < =200
m=m+1;
s=s+m,

end
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>>s,m
s =
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KRBT i J M RIB R E T RIS, 7 R IK AL S8 W AT if FI end Z ] 9 i
AEA] AR i 254, AT end J5 Y IEA]
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WK 1;
else
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wmak L

elseif FikRK 2

Ak 2;

else

EAE 3;

end
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n=100;
x=1:n;
y = randn(1,n); % B 100 A4~ KHE Y BEHLAT 2% i
hold on
fori=1:n
if y(i)<-1

plot(x(1i),y(i),'*g") ST -1 SO « bRl
elseif y(i)>= -1 &y(i)<=1

plot(x(i),y(1), 'ob") % - 1~1 MR AR o bRl
else y(i)>1

plot(x(i),y(1), 'xr") s KT 1R E L AR x bR il

end
end
hold off
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